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SHeWIAUT - DISHSHDEUT

Vijayan started walking towards South after walking 15 meters he turned to
the left and walked 15 metres. He again turned to his left and walked 15
metres. How far is he from his original position and in which direction?
almwer eleUaT OMBE Hmg Cpresdl 15 15 gnpb pLSEDBIT. Uiy S gl
ympd Sl 15 15 Sy LSBT, WewiGd L pDd Sl 15 15 Sy
BLESDBIT  elafled SlouT OHTLmSW B HHe0 @mbaH  SBCUTEH  BHBGLWD
BLSIBE el6ileueTey SMTHSH60 WHBPID 6hF Senguiled SmbeIBT?

a. 15 metres, North b. 15 metres, South

c. 30 metres, East d. None of these

I walk 30 meters in North - West direction from my house and then 30
meters in South West direction. After this I walk 30 metres in South - East

direction. Now I turn to my house. Now in what direction am I going?
BTar  eleighl  aillged @dbaH 30 15 e CoBeres OFaiCBer LImE 30 15
CpaBoBE Hmguled OFaiCBearl LIBE mHrer 30 1 OFaispss SHanagulled

CFeCmer. @UGUTWEI gl il lpBE& HHWL MBHUSBES 6hHS SHenFuled [HIe
OF 608 Cmear?

a. North - East b. North - West
c. South - East d. South - West

Raj starts from his office facing west and walks 100 metres straight than
takes a right turn and walks 100 metres. Further he takes a left turn and
walks 50 meters. In which direction is Raj now from the starting point?

gTe) eISiLeT SIS DiIIESH0 Bmha CoBE Hews Crrédsl 100 OLLT
O LIp@ oeufler aeogipld Sl 100 BLLT GFe0sprT. UBg SL LD
Bl 50 BLLT GFeodprt. GUOumwas OOHTLmSW BLHHe0 @ HbHH 6hHD
FHenguled ST BHSHMT?

a. North - East b. South - West

c. North d. North - West

Vijay starts walking straight towards East. After walking 75 metres he turns
to the left and walks 25 metres straight. Again he turns to the left and walks
a distance of 40 metres straight. Again he turns to the left and walks a

distance of 25 metres. How far is he from the starting point?

almul ereielT &pdHG SHmFmw Crprédsl Ggeodprt. 75 15 gigb GeamUBG
ST @Laupd SHewll 25 16 pLESDprT. el GLgup  Hmbol 40 16
S pLESBIT. ewiBld SL B Hmwll 25 15 BpLSHBIT  eleled  SieulT
CpTLmiE B SHled BbbHI eleleueney HNTHS60 BIBSBIT?

a. 140 metres b. 50 metres c. 35 metres d. 115 metres

If A is in the North of B and C is in the West of B. In what direction is A with
respect to C?
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[STUDY CENTRE

A et B ulenr e s@ Hevgulend wmmid C  eemueut B uler  GuomE
Hewguwigb o eitenenT  ei@diled A elewiueuT C &, QUTBSHH 6hH  Hewaguied
® GIT6NT?

a. North - East b. East c. South d. South - West

K is 40 m South-West of L. If M is 40 m South-East of L, then M is in which
direction of K?

K asuair L &g 408 0aa60BE Hamgulsd o etenmi. M ereiueut L @ 4015
OFHIBNHEG Hemguled o eitenti eiafled M et K & 6bs Hmaguiled
S\mLIm?

a. East b. West c. North-East d. South

If A x B means A is to the south of B; A + B means A is to the north of
B; A % B means A is to the east of B; A - B means A is to the west of B;
then in

P % Q + R -5, Sis in which direction with respect to Q?

A x B areiipmed A ooz Buler Qam@ FHeawauled o eitengl. A + B ereiimsmed
A semx Bulen e s@ Heowguled o eengl. A % B eamred A gl
Bulesr Sipsg Hemguled o etengl. A - B eeimred A oozl Buler GuoBg,
FemFuled 2 _eirengl eafled P % Q + R - S-60, Q envwii QuUIBHEH S 6hD
FHemguled 2 6iTengl?

a. South-West b. South-East

c. North-East d. North-West

Raju starts walking towards south. After walking 20 m he turns
towards North and Walks 8 m. Again he turns towards East and walks
5 m. How far and in which direction is he from his starting point.

greg® eleileuT OamE GChTées BLSESH OHTLmGSDBTT. 2010 HIJD BLHS DleuT
auLsg Cprdsl Hmwl 8 15 HMgb HLSSDBIT. wmLgud Siwdhd Crred
SHHL 5 15 S BLESBAT eeled, DL B $5SHed(HbHIH  6l6lelene] SHIILD
BBID 6heHdH SHenguled SleuT GHLILIMT?

a. 15 m, South b. 17 m, North-West

c. 7 m, East d. 13 m, South-East

Ram walks 12 kilometer to the north then 10 km east and then 12 km
south. How far is he from the starting point?

gmb 12 &5 euLsans BLbBSH e 10 S5 Spsstsad wmmid 12 S
OpBHTHAID BLHITED, DU CFHTLS5HH5HNHHH BUOLTILEH E\HSHESHLD
B 1D 6T6laI6eTe)| HITFLD?

a.9 km b. 13 km c. 8 km d. 10 km
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Ram starts from a point A and walks 6 km North, then turns left and walks 8

km, then turns left and walks 12 km up to the point B. What is the direction
of Ram?

A ea&ip YeTafuled GmbaEH D eULdb@Gl UdbBOTS 6 &6 BLbBSH LT S g
ussLTS SHHL 8 &b, pLbeH Uar WeniGlh SLgl usbsowrs Hmbl 12 &lib.
BLBSH B el Leaflenw aubgs SIWLHSTE0 Dieuet BBSLD SHewd elevtenn?

a. North b. South c. East d. West

A and B are married couple. X and Y are brothers. X is the brother of A.
How is Y related to B?

A ppid B SHmwemtioreraitset. X wBpid Y F@asnayiser. X eeiueut A uler
FBHTHIT, eladfled Y eraiiLieuT B —ulsb@, eretien o _mey?

a. Brother-in-Law b. Brother c. Son-in-law d. Cousin

Deepak is brother of Ravi. Rekha is sister of Abtul. Ravi is son of Rekha.
How is Deepak related to Rekha?

a. Son b. Brother c. Nephew d. Father

Hudb geluler FCarsyer. Cramr oligedear g6srsfl. gal Grsmele wser. Hud,
Crameys@ eleiial 2 _me|penms?

a. LD&E b. #@srayes c. 38anaf o6 d. shos

Pointing to a girl in the photograph, Amar said, “Her mother’s brother is
the only son of my mother’s father”. How is the girl’s mother related to
Amar?

a. Mother b. Sister c. Aunt d. Grandmother

“

UemdLll  LULSFHe(hEGSWD  Ouewienewill  LMTHH — DILOT ®euaflert  ojbLoTeed
FCHTHIT 6131  SUDITANGST  BHwHDHG @BF od6T  eTedIMIe. I IGILICNT6NwT 6ot
SIDIOT DID(HG 61T 2 BeUTSHIBIT?

a. o|LbLoT b. @zraf C. SFHMS d. umiig

If Kamal says, “Ravi’s mother is the only daughter of my mother”,
how is Kamal related to Ravi?
a. Grandfather b. Father c. Brother d. None of

these
&6 “galluler ouboT eet obwTelear @BF &6 eeTEMTT 6lefled BHLD6V,
galulld@ el o mey?
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CHENNAI

a. HTHT b. spHms c. 38xrayer  d. @eumBpled e1&HINELM6V

Pointing to the lady on the platform, Manju said, “She is the sister of
the father of my mother’s son. “Who is the lady to Manju?

a. Mother b. Sister c. Aunt d. Niece

wehd ' Beuell eleT bOTENE DB Hhensuler FGHTHM  eredBTeI.
SloU6T EhFNIMBG 6laIe 2 B6?

a. Sl b. #Gsrs C. 9GNS d  Gsrasfl sl

Introducing a man, a woman said, “He is the only son of my mother’s
mother”. How is the woman related to the man.

a. Mother b. Aunt  c.Sister  d. Niece

QM BUDIF &lipd ST @ Ouewl Geleurm OCFTeTeITeT, “@6uUT 616l

STl STUISEEG @CJ & et SbsL OUeml bdH UMISES 61HS
almBUTeL 2 me,?

a. sl b. &i5m5
c. FBx1a d. o L6 LIBHSHTT 1DBH6IT, DHLOBGE

A man pointing to a photograph says, “The lady in the photograph is
my nephew’s maternal grandmother”. How is the lady in the
photograph related to the man’s sister who has no other sister?

a.. Cousin b. Sister-in-law  c. Mother d. Mother-in-
law

QM LMSLIULSHMSHS ST e BUT Seleumm  QFmedsBTT, “@hsll
LUemSBLILL HSHed o 6o Ouew!, eleianienl Wl 2 L6l LIBhHSTT  L0&H60T 60t
STWION UMY SeutT  LensUUL SFHe0 2 6ol ObHL  OlLewl, HebE)
Goupl sCaxmaM Bevevrs SibHd HUfel FCaTHNEG 6hHe amauled 2 Bey?
a. gapel’ L FCasrs b. oiewieni, HTHHEITT

C. Sl d. wmOuwimr

Directions (Questions 18-19): Read the following information and answer
the questions given below it:
A is the father of C. But C is not his son.

E is the daughter of C. F is the spouse of A.

B is the brother of C. D is the son of B.

G is the spouse of B. H is the father of G.

A aaueut C et Hhend. opemmed C Sjouhmenl Ul DH6T D606V
E aeiueut C e sel. F eleiiuout A 61 oeneviad

B aaiueut C et #@snayt. D etaiiueu B e omest

G aaueut B et wewenal. H eaiueut G &1 Hphens
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Who is the grandmother of D?
D e umiip wmi?

a. A b.C c.F

Who is the son of F?
F &1 wasenr wimit?

a.B b.C c.D d. E

Pointing to a man in a photograph, a woman said, “His brother’s father
is the only son of my grandfather”. How is the woman related to the
man in the photograph?

a. Mother b. Aunt c. Sister d. Daughter

Qb UmaIULSHHe0 o 6el  @(h [BUMISH ST @ Oues Se6ieuTy)
Oamesienme, “@eumenL W FCHTHTNT HhHewd, o6l HTHHTaler BT LDH6sT
SLTT.” SIbHLI OLewT, LBLILL HHe0 2 66 HL(HDHG, 6l6el 2 me6)]?

a. Sl b. o155 c. FC8xna d. seit

Directions: Find the missing character from among the given alternatives.

6| Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




TS/
C
c.17
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LOGICAL REASONING ANSWER KEY
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